<< HREIVIE RS
&BERT-ZGERS

FEm it AR :

RSN E, EHRIEAE, FURsh. drehdiieit, IPE8PIH 4
%%, PURZZE, FrrCibii)yo

C€

S

Fi4-2G12-OP6L 4mm 351 PNP NO 10...60VDC <200mA 650Hz -40...85C 22K HL8 1

Fi4-ZG12-CP6L 4mm - PNP NC 10...60VDC <200mA 650Hz -40...85C 2K 48 1

Fi4-ZG12-ON6L 4mm 51 NPN NO 10...60VDC <200mA 650Hz -40...85C 2K L8R 1

Fi4-ZG12-CN6L 4mm 5 NPN NC 10...60VDC <200mA 650Hz -40...85C 2K 45 &1

Ni6-ZG12-OP6L 6mm 55T PNP NO 10...60VDC <200mA 600Hz -40...85C 2K 2R K2

Ni6-ZG12-CP6L 6mm JE55F PNP NC 10...60VDC <200mA 600Hz -40...85C 2K HL25 %2

Ni6-ZG12-ON6L 6mm 5 NPN NO 10...60VDC <200mA 600Hz -40...85C 2K 2 K2

Ni6-ZG12-CN6L 6mm E[s>ien NPN NC 10...60VDC <200mA 600Hz -40...85C 22K H 45 2
GREASE
K1 &2

4 52
40 8 40
8 8
| | LED | | LED
o w8
| M —
f | 3 _
JVWW\1\44J7® /\N\Mr] | ]
™
\M12X1 . SW17 © \M12X1| 4 \SwW17

4-027



eLCoO

INOUSTRIAL AUTEMATION

EREHEM-ZGRT

iR :

AEMSNE, EHREAE, JrRsh. drehdiset, IPespIisE
%%, PURZM, FRECIEM/T -

q3

onne

CES gEIMEE RFsR Al RFRE  SERR YRR TEEE BsSR AHE
Fi4-ZG12-OP6L-Q12 4mm a2 PNP NO 10...60VDC <200mA 650Hz -40...85C M1234 3% &1
Fi4-ZG12-CP6L-Q12 4mm 7 PNP NC 10...60VDC <200mA 650Hz -40...85C M123E #2738 &1
Fi4-ZG12-ON6L-Q12 4mm - NPN NO 10...60VDC <200mA 650Hz -40...85C M2 f 45 1
Fi4-ZG12-CN6L-Q12 4mm P NPN NC 10...60VDC <200mA 650Hz -40...85C M12 %48 &1
Ni6-ZG12-OP6L-Q12 6mm AEFF PNP NO 10...60VDC <200mA 600Hz -40...85C M2 4% &2
Ni6-ZG12-CP6L-Q12 6mm 551 PNP NC 10...60VDC <200mA 600Hz -40...85C M1 2% 58 &2
Ni6-ZG12-ON6L-Q12 6mm | NPN NO 10...60VDC <200mA 600Hz -40...85C M12 7% 48 &2
Ni6-ZG12-CN6L-Q12 6mm JEFHF NPN NC 10...60VDC <200mA 600Hz -40...85C M12 7% FEas 52

HE :

K1 2

54 62
40 8 40
8 8

—

W | l
) W “w“[
M12X1 L4
\ Wiz LED \ M12X1 mizxt/ [4| \swiz LED\M12X1

4-028



	111-112(4-027-028)  ZG系列1-email (2)
	111-112(4-027-028)  ZG系列1-email

